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James C. Codell, 1l Transportation Cabinet Paul E. Patton
Secretary of Transportation Frankfort, Kentucky 40622 Governor
Clifford C. Linkes, P.E.
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INTRA-DEPARTMENTAL MEMO
TO: Annette Coffey, P.E., Director
Division of Planning
ATTN: Bruce Siria, P.E.

FROM: Michael L. Hill, P.E., Director W

Division of Multimodal Programs
DATE: November 18, 2003

SUBJECT: Leslie, Harlan, Perry and Letcher Counties Traffic Forecasts
Harlan to Hazard Alternatives Study

This is to revise and refine our November 10, 2003 forecast on the subject
project as follows:
o Residual traffic on KY 118 from US 421 to TR 9006, KY 15 from KY 451 to
TR 9006, and TR 9006 from KY 15 to KY 451 were added to these forecasts.
e Traffic volumes on KY 451 were corrected for Aiternate 7.
The Alternate 3 route was modified.

If you have any questions, please call Rob Bostrom or Kong Ee of this Division.
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Daryl Greer w/attachment
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Traffic Forecast
Executive Summary

PROJECT DESCRIPTON
The purpose of the project is to conduct a corridor study on the Harlan to Hazard Alternatives in
Leslie, Harlan, Perry and Letcher counties.

TYPE of FORECASTS

The following types of forecasts were developed for the Build scenario:

e Average daily traffic (ADT) forecasts were developed for the alternatives. These forecasts
were developed for current year 2003 and design year 2030.

e Truck forecasts (ADT) forecasts were also provided for this project.

KENTUCKY STATEWIDE MODEL (KYSTM)

The KYSTM was used to determine the alternative diversions. The KYSTM model used were the
Base Network and the without I-66 Network. The model showed approximately 500 trips traveling
from Hazard to Harlan daily. The alternatives were modeled using a 55 mph speed limit and with
a two-lane geometry. Speeds used on US 421 were 35 mph.

TRAFFIC VOLUMES

The 1999 KYSTM Network was well calibrated in this area. Actual counts and the No Build
network total volumes were close to each other. Therefore, the Build network fraffic volumes were
used for the alternate forecasts.

GROWTH RATE

Trendline analysis shows an average growth rate of 1.23% on US 119, US 421, KY 80, TR 9006,
KY 15, KY 7, KY 699, and KY 463 in four counties. The KYSTM analysis shows growth rate of
1.57%. Therefore, a growth rate of 1.5% was used on the alternatives.

TRUCK PERCENTAGES
The KYSTM was used for truck percentages for the alternatives. Truck percentages for the No
Build alternative were based on classification counts.

TIME SAVINGS

Several possible routes were taken into consideration from Hazard to Harlan to determine the
differences in distance savings and time savings from new roads and old roads. The distances
were obtained from the Transcad GIS and the speed limits were obtained from the HIS.



No Build

Traffic Volumes

2003 ADT = 6000
2030 ADT = 8970
2003 %T (ADT) = 12%
2030 %T (ADT) = 19%

2003 ADT = 15000
2030 ADT = 22420
2003 %T (ADT) =15%
2030 %T (ADT) = 23%

2003 ADT = 5300
2030 ADT = 7920
2003 %T (ADT) = 14%

2030 %T (ADT) =21%

2003 ADT = 4500
2030 ADT = 6730
2003 %T (ADT) = 7%
2030 %T (ADT) = 11%

2003 ADT = 5000
2030 ADT = 7470
2003 %T (ADT) = 6%

2030 %T (ADT) = 10%

2003 ADT = 2800
2030 ADT = 4190
2003 %T (ADT) = 11%
2030 %T (ADT) = 18%

2003 ADT = 1600
2030 ADT = 2390
2003 %T (ADT) = 20%
2030 %T (ADT) = 31%

2003 ADT = 2500
2030 ADT = 3740

2003 %T (ADT) =13%
2030 %T {ADT) = 20%

2003 ADT = 4500
2030 ADT = 6730
2003 %T (ADT) = 7%
2030 %T (ADT) = 11%

2003 ADT = 2000
2030 ADT = 2990
2003 %T (ADT) = 16%
2030 %T (ADT) = 25%

2003 ADT = 25000
2030 ADT = 37370
2003 %T (ADT) = 3%
2030 %T (ADT) = 5%

2003 ADT = 15000
2030 ADT = 22420
2003 %T (ADT) = 5%
2030 %T (ADT) = 8%

2003 ADT = 3800
2030 ADT = 5680
2003 %T (ADT) = 5%
2030 %T (ADT) = 8%

12003 ADT = 3300
2030 ADT = 4930
. |2003 %T (ADT) = 13%
."12030 %T (ADT) = 20%

12003 ADT = 2100
2030 ADT = 3140

12003 %T (ADT) = 20%

2003 ADT = 8000
2030 ADT = 11960
2003 %T (ADT) = 4%
2030 %T (ADT)=6%

2003 ADT = 5800
2030 ADT = 8670
2003 %T (ADT) = 5%
2030 %T (ADT) = 8%

12030 %T (ADT) = 31%

2003 ADT = 1000
2030 ADT = 1490
2003 %T (ADT) = 20%
2030 %T (ADT) = 31%

2003 ADT = 1500




No Build
Traffic Volumes

2003 ADT = 1700
2030 ADT = 2540 \
;12003 %T (ADT) = 8%

12030 %T (ADT) = 13%

12030 ADT = 6730
12003 %T (ADT) = 9%
2030 %T (ADT) = 13%

2003 ADT = 3500 12003 ADT = 2500

2030 ADT = 5230 {2030 ADT = 3740

2003 %T (ADT) =11% 2003 %T (ADT) =15%
. 12030 %T (ADT) = 17% 2030 %T (ADT) = 24%
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New Route Traffic Volumes

i{

Alternate 1

2003 ADT = 5700
2030 ADT = 8500
2003 %T (ADT) = 3%

. |2030 %T (ADT) = 4%

e

12003 ADT = 4000
2030 ADT = 6000
'|2003 %T (ADT) = 6%

12030 %T (ADT) = 9%

T

12003 ADT = 1500

2030 ADT = 2200
2003 %T (ADT) = 9%
2030 %T (ADT) = 14%

Z

2003 ADT = 1000

%2030 ADT = 1500

2003 %T (ADT) = 6%
2030 %T (ADT) = 9%
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2003 ADT = 5940
2030 ADT = 8880

2003 %T (ADT) = 13%
2030 %T (ADT) = 19%

Residual Route Traffic Volumes

2003 ADT = 15450
2030 ADT = 23090

2003 %T (ADT) = 15%
2030 %T (ADT) = 22%

Alternate 1

2003 ADT = 1750
2030 ADT = 2620

2003 %T (ADT) = 37%
2030 %T (ADT) = 55%

2003 ADT = 4730
2030 ADT = 7070

2003 %T (ADT) = 21%
2030 %T (ADT) = 31%

2003 ADT = 6720
2030 ADT = 10050
2003 %T (ADT) = 11%

2030 %T (ADT) = 18% v

2003 ADT = 1000
2030 ADT = 1430
2003 %T (ADT) = 15%
2030 %T (ADT) = 23%

2003 ADT = 2000
2030 ADT = 2990
2003 %7 (ADT) =7%
2030 %T (ADT) = 12%

2003 ADT = 1120
2030 ADT = 1670
2003 %T (ADT) = 13%
2030 %T (ADT) =21%

2003 ADT = 1330
2030 ADT = 1990
2003 %T (ADT) = 11%
2030 %T (ADT) = 17%

2003 ADT = 2380
2030 ADT = 3560
2003 %T (ADT) = 6%
2030 %T (ADT) = 10%

2003 ADT = 1060
2030 ADT = 1580

2003 %T (ADT) = 14%
2030 %T (ADT) = 22%

2003 ADT = 1720
2030 ADT = 2570
2003 %T (ADT) = 18%
2030 %T (ADT) = 28%
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2003 ADT = 24800
2030 ADT = 37070
2003 %T (ADT) = 3%
2030 %T (ADT) = 4%

2003 ADT = 15000
2030 ADT = 22420

2003 %T (ADT) = 5%
2030 %T (ADT) = 8%

12003 ADT = 3820
\/-12030 ADT = 5710

12003 %T (ADT) = 10%

2030 %T (ADT) = 15%

S

N NS
2003 ADT = 2120
2030 ADT =3170
.-{2003 %T (ADT) = 17%

/2003 ADT = 2870
12030 ADT = 4290

A
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12003 %T (ADT) = 11%

2030 %T (ADT) = 16%

2030 %T (ADT) =27%

Aond?

2003 ADT = 3720
2030 ADT = 5560

2003 %T (ADT) = 11%
|2030 %T (ADT) = 17%

12003 ADT = 3070

2030 ADT = 4590

._12003 %T (ADT) = 14%
"|2030 %T (ADT) = 21%

~12003 ADT = 1900

.5 |2030 ADT =2840
+]2003 %T (ADT) = 22%

12030 %T (ADT) = 34%

2003 ADT =910
2030 ADT = 1360

2003 ADT = 7760
2030 ADT = 11600
2003 %T (ADT) = 4%

2030 %T (ADT) = 6%

2003 ADT = 5630
2030 ADT = 8010

2003 %T (ADT) = 5%
2030 %T (ADT) = 8%

2003 %T (ADT) = 22%
2030 %T (ADT) = 34%

2003 ADT = 1370
2030 ADT = 2050
2003 %T (ADT) =15%
2030 %T (ADT) = 23%




Alternate 1a
New Route Traffic Volumes

¥ i
2003 ADT = 600
2030 ADT = 900 ~
2003 %T (ADT) = 6% %
2030 %T (ADT) = 10%
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2003 ADT = 1600
2030 ADT = 2400

12003 %T (ADT) = 9%
{2030 %T (ADT) = 14%
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2003 ADT = 1000
2030 ADT = 1500
2003 %T (ADT) = 6%
2030 %T (ADT) = 9%




Alternate 1a

Residual Route Traffic Volumes

2003 ADT = 6480
2030 ADT = 9690

2003 %T (ADT) = 11%
2030 %T (ADT) = 17%

2003 ADT = 15450
2030 ADT = 23090

2003 %T (ADT) = 15%
2030 %T (ADT) = 22%

2003 ADT = 5940
2030 ADT = 8880

2003 %T (ADT) = 12%
2030 %T (ADT) = 18%

2003 ADT = 5250
2030 ADT = 7850

2003 %T (ADT) = 14%
2030 %T (ADT) =21%

2003 ADT = 4730
2030 ADT = 7070
2003 %T (ADT) = 8%
2030 %T (ADT) = 12%

2003 ADT = 3500
2030 ADT = 5230
2003 %T (ADT) = 4%

5 .
712003 ADT = 4190
2030 ADT = 6260
2003 %T (ADT) = 9%
2030 %T (ADT) = 14%

U

2003 ADT = 24800
2030 ADT = 37070
2003 %T (ADT) = 3%
2030 %T (ADT) = 4%

2003 ADT = 15000
2030 ADT = 22420
2003 %T (ADT) = 5%

2030 %T (ADT) = 8%

P

2030 %T (ADT)=7%

2003 ADT = 1960
2030 ADT = 2930
2003 %T (ADT) =8%
2030 %T (ADT) = 12%

2003 ADT = 2330
2030 ADT = 3480

N -]2003 %T (ADT) = 16%

2003 ADT = 1120
2030 ADT = 1670
2003 %T {ADT) = 13%
2030 %T (ADT) =21%

2003 ADT = 1330
2030 ADT = 1990
2003 %T (ADT) =11%
2030 %T (ADT) = 17%

2003 ADT = 2380
2030 ADT =3560
2003 %T (ADT) = 6%
2030 %T (ADT) = 10%

2003 ADT = 1060
2030 ADT = 1580
2003 %T (ADT) = 14%
2030 %T (ADT) = 22%

2003 ADT = 1720
2030 ADT = 2570
2003 %T (ADT) = 18%
2030 %T (ADT) =28%

{2003 ADT = 3220

12030 ADT = 4810
12003 %T (ADT) = 12% L
2030 %T (ADT) = 18% ’

\|2030 %T (ADT) = 26%

2003 ADT = 3610
2030 ADT = 5400
2003 %T (ADT) =11%
.J2030 %T (ADT) = 17%

712003 ADT = 3140

2030 ADT = 4690

_[2003 %T (ADT) =13%
12030 %T (ADT) = 21%

<2003 ADT = 1910
2030 ADT = 2860
2003 %T (ADT) = 22%

2003 ADT = 7760
2030 ADT = 11600
2003 %T (ADT) = 4%
2030 %T (ADT) = 6%

2003 ADT = 5630
2030 ADT = 8420

2003 %T (ADT) = 5%
2030 %T (ADT) = 8%

12030 %T (ADT) = 34%

2003 ADT =910

2030 ADT = 1360
2003 %T (ADT) = 22%
2030 %T (ADT) = 34%

2003 ADT = 1370

- ~.-]2030 ADT = 2050
: 2003 %T (ADT) = 15%
ik {2030 %T (ADT) = 23%




Alternate 2
New Route Traffic Volumes

. 12003 ADT = 5200
"|2030 ADT = 7800
12003 %T (ADT) = 4%
2030 %T (ADT) = 6%
7 e 1

s 3 -

2003 ADT = 3900

i  |2030 ADT = 5800
42003 %T (ADT) = 6%
2030 %T (ADT) = 9%

2003 ADT = 2600

2030 ADT =3900 : - il
12003 %T (ADT) =8 % N ..

2030 %T (AD

T)=13%

2003 ADT = 3900
2030 ADT = 5800
2003 %T (ADT) = 5%
2030 %T (ADT) = 7%




2003 ADT = 15450
2030 ADT = 23090
2003 %T (ADT) = 14%
2030 %T (ADT) = 22%

Alternate 2

Residual Route Traffic Vblumes

2003 ADT = 5940
2030 ADT = 8880
2003 %T (ADT) = 12%
2030 %T (ADT) = 18%

2003 ADT = 5250
2030 ADT = 7850
2003 %T (ADT) = 14%
2030 %T (ADT) = 21%

2003 ADT = 4730
2030 ADT = 7070
2003 %T (ADT) = 8%
2030 %T (ADT) = 12%

2003 ADT = 25030
2030 ADT = 37410
2003 %T (ADT) = 3%
2030 %T (ADT) = 4%

2003 ADT = 4950
2030 ADT = 7400
12003 %T (ADT) = 8%
2030 %T (ADT) = 13%

- 12003 %T (ADT) = 14%

{2003 ADT = 3850
2020 ADT = 5750

“~12003 %T (ADT) = 12%

2030 %T (ADT) = 18%

"v:-

2003 ADT = 2750
2030 ADT = 4110

2030 %T (ADT) =23%

G

2003 ADT = 14700
2030 ADT = 21970
2003 %T (ADT) = 5%
2030 %T (ADT)=8%

2003 ADT = 3530
2030 ADT = 5280
2003 %T (ADT) = 12%
|2030 %T (ADT) = 18%

2003 ADT = 3140
2030 ADT = 4690
2003 %T (ADT) = 13%
12030 %T (ADT) = 21%

712003 ADT = 1910

12030 %T (ADT) = 34%

2030 ADT = 2860
2003 %T (ADT) = 22%

2003 ADT =910

2030 ADT = 1360
2003 %T (ADT) = 22%
2030 %T (ADT) = 34%

2003 ADT = 1370
2030 ADT = 2050

2003 %T (ADT) = 15%
12030 %T (ADT) = 23%

v
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2003 ADT = 7760
2030 ADT = 11600
2003 %T (ADT) = 4%

2030 %T (ADT) = 6%

2003 ADT = 5630
2030 ADT = 8420

2003 %T (ADT) = 5%
2030 %T (ADT) = 8%




Alternate 2a
New Route Traffic Volumes

2003 ADT = 5200

2030 ADT = 7800

~ |2003 %T (ADT) = 4%
12030 %T (ADT) = 6%

> 12003 ADT = 3900
12030 ADT = 5800

* [2003 %T (ADT) = 6% .

12030 %T (ADT) = 9%

F

<7 /[2003 ADT = 2600
£~12030 ADT = 3900
2003 %T (ADT) = 8% | :
2030 %T (ADT) = 13% e Y analy &

b

— 12003 ADT = 3900
"|2030 ADT = 5800

2003 %T (ADT) = 5%

2030 %T (ADT) = 7%




Alternate 2a
Residual Route Traffic Volumes

2003 ADT = 15400
2030 ADT = 23020
2003 %T (ADT) = 15%
2030 %T (ADT) = 22%

2003 ADT = 24800
2030 ADT = 37070

2003 %T (ADT) = 3%
2030 %T (ADT) = 4% .

2003 ADT = 5940
2030 ADT = 8880
2003 %T (ADT) = 12%
2030 %T (ADT) = 18%

2003 ADT = 14700
2030 ADT = 21970

2003 %T (ADT) =5%
2030 %T (ADT) = 8%

2003 ADT = 5250
2030 ADT = 7850 TR
2003 %T (ADT) = 14% Sy

2030 %T (ADT) = 21% 5

2003 ADT = 3530
2030 ADT = 5280
2003 %T (ADT) = 12%
2030 %T (ADT) = 18%

[2003 ADT = 4950
2030 ADT = 7400
12003 %T (ADT) = 8%
2030 %T (ADT) = 13%

12003 ADT = 3140
2030 ADT = 4690
2003 %T (ADT) = 13%
2030 %T (ADT) =21%

2003 ADT = 4730
2030 ADT = 7070
2003 %T (ADT) = 8%

2030 %T (ADT) = 12%

TF

2003 ADT = 2750
~ |2030 ADT = 4110
.-{2003 %T (ADT) = 14%
2030 %T (ADT) = 23%

2003 ADT = 1930

%r {2030 ADT = 2860
12003 %T (ADT) = 22%

12030 %T (ADT) = 34%

/2003 ADT = 3850
& 72030 ADT = 5750
2003 %T (ADT) = 12%

2003 ADT =910

2030 ADT = 1360
2003 %T (ADT) = 22%
2030 %T (ADT) = 34%

2030 %T (ADT) =18%

2003 ADT = 1370
12030 ADT = 2050
2003 %T (ADT) = 15%
12030 %T (ADT) = 23%
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2oy i
oA A eh ™

2003 ADT = 5630
2030 ADT = 8420

2003 %T (ADT) = 5%
2030 %T (ADT) = 8%

2003 ADT = 7760
2030 ADT = 11600
2003 %T (ADT) = 4%
2030 %T (ADT) = 6%




2003 ADT = 2900
2030 ADT = 4300
2003 %T (ADT) = 4%
2030 %T (ADT) = 6%

Alternate 3
New Route Traffic Volumes

. e i
2003 ADT = 1500
2030 ADT = 2200
2003 %T (ADT) = 9%
2030 %T (ADT) = 14%

A

R

2003 ADT = 3900
212030 ADT = 5800
2003 %T (ADT) = 5%
2030 %T (ADT) = 7%




Alternate 3

Residual Route Traffic Volumes

2003 ADT = 5940
2030 ADT = 8880
2003 %T (ADT) = 12%
2030 %T (ADT) = 18%

2003 ADT = 15380
2030 ADT = 22990
2003 %T (ADT) = 15%
2030 %T (ADT) = 22%

2003 ADT = 5260
2030 ADT =7860
2003 %T (ADT) = 14%
2030 %T (ADT) =21%

2003 ADT = 4730
2030 ADT = 7070
2003 %T (ADT) = 8%
2030 %T (ADT) = 12%

2003 ADT = 5650
2030 ADT = 8450
2003 %T (ADT) = 3%
2030 %T (ADT) = 4%

2003 ADT = 3160
2030 ADT = 4720
2003 %T (ADT) = 5%
2030 %T (ADT) = 7%

2003 ADT = 1960
2030 ADT = 2930
2003 %T (ADT) =8%
2030 %T (ADT) = 12%

2003 ADT = 1120
2030 ADT = 1670
2003 %T (ADT) = 13%
2030 %T (ADT)=21%

2003 ADT = 1330
2030 ADT = 1990
2003 %T (ADT)=11%
2030 %T (ADT)=17%

2003 ADT = 2380
2030 ADT = 3560
2003 %T (ADT) = 6%
2030 %T (ADT) = 10%

2003 ADT = 1060
2030 ADT = 1580
2003 %T (ADT) = 14%
2030 %T (ADT) =22%

3

2003 ADT = 24800
2030 ADT = 37070

2003 %T (ADT) = 3%
2030 %T (ADT) = 4%

2003 ADT = 15020
2030 ADT = 22450
2003 %T (ADT) = 5%
2030 %T (ADT) = 8%

~[2003 ADT = 4860
2030 ADT = 7260

2003 %T (ADT) = 8%

2030 %T (ADT) = 13

%

TF

2003 ADT =2700
2030 ADT = 4040
2003 %T (ADT) = 15%

12003 ADT = 3820

412030 ADT = 5710
-[2003 %T (ADT) = 12%

2030 %T (ADT) = 18%

2030 %T (ADT) = 23%

2003 ADT = 3610,
2030 ADT = 5400
2003 %T (ADT) = 11%
12030 %T (ADT) = 17%

2003 ADT = 2970
2030 ADT = 4440

12030 %T (ADT) = 22%

2003 %T (ADT) = 14%

2003 ADT = 7760
2030 ADT = 11600
2003 %T (ADT) = 4%
2030 %T (ADT) = 6%

2003 ADT = 5630
2030 ADT = 8010
2003 %T (ADT) = 5%
2030 %T (ADT) = 8%

"12003 ADT = 1850
2030 ADT = 2830

<|2003 %T (ADT) = 22%
+12030 %T (ADT) = 34%

=

2003 ADT = 900

2030 ADT = 1350
2003 %T (ADT) = 22%
2030 %T (ADT) = 34%

~ 12003 ADT = 1350
12030 ADT = 2020

2003 %T (ADT) = 15%
12030 %T (ADT) = 23%
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Alternate 3a
New Route Traffic Volumes

e

Nniad »eF

J2003 ADT = 200
|2030 ADT = 300

2003 %T (ADT) = 10%

{2030 %T (ADT) = 20%

St

2003 ADT = 3400
2030 ADT = 5100
2003 %T (ADT) = 4%
2030 %T (ADT) = 6%

2003 ADT = 1500
2030 ADT = 2200
2003 %T (ADT) = 9%
2030 %T (ADT) = 14%

"2|2003 ADT = 3900
2030 ADT = 5800
2003 %T (ADT) = 5%
2030 %T (ADT)=7%




2003 ADT = 6120
2030 ADT = 9150
2003 %T (ADT) = 11%
2030 %T (ADT) = 18%

Alternate 3a
Residual Route Traffic Volumes

2003 ADT = 5940
2030 ADT = 8880
2003 %T (ADT) =12%
2030 %T (ADT) = 18%

2003 ADT = 25500
2030 ADT = 38120
2003 %T (ADT) = 9%
2030 %T (ADT) = 13%

2003 ADT = 5250
2030 ADT = 7850
2003 %T (ADT) = 14%
2030 %T (ADT) = 21%

2003 ADT = 4660
2030 ADT = 6970
2003 %T (ADT) = 8%
2030 %T (ADT) =12%

2003 ADT = 3500
2030 ADT = 5230
2003 %T (ADT) = 4%

2030 %T (ADT) = 7%

2003 ADT = 1960
2030 ADT = 2930
2003 %T (ADT) = 8%
2030 %T (ADT) = 12%

2003 ADT = 1120
2030 ADT = 1670

2003 %T (ADT) = 13%
2030 %T {ADT) = 21%

2003 ADT = 1330
2030 ADT = 1990

2003 %T (ADT) = 11%
2030 %T (ADT) = 17%

2003 ADT = 2380
2030 ADT = 3560
2003 %T (ADT) = 6%
2030 %T (ADT) =10%

2003 ADT = 1060
2030 ADT = 1580
2003 %T (ADT) = 14%
2030 %T (ADT) = 22%

2003 ADT = 24800
2030 ADT = 37070
2003 %T (ADT) = 3%
2030 %T (ADT) = 4%

12003 %T (ADT)
2030 %T (ADT)

2003 ADT = 4640
"12030 ADT = 6940

=9%
=13%

2003 ADT = 2580
2030 ADT = 3860
- 12003 %T (ADT) = 15%

2030 %T (ADT) = 24%

i I N

.. [2003 ADT =3670
2030 ADT = 5400
2003 %T (ADT) = 12%

4%\ 2030 %T (ADT) = 19%

2003 ADT = 15020
2030 ADT = 22450

2003 %T (ADT) = 5%
2030 %T (ADT) = 8%

_|2030 %T (ADT) = 17%

2003 ADT = 3610
2030 ADT = 5400
2003 %T (ADT) = 11%

12003 ADT = 2970

12030 %T (ADT) = 22%

2030 ADT = 4440
2003 %T (ADT) = 14%

2003 ADT = 7760
2030 ADT = 11600

2003 %T (ADT) = 4%
2030 %T (ADT) = 6%

2003 ADT = 5630
2030 ADT = 8010
2003 %T (ADT) = 5%
2030 %T (ADT) = 8%

12003 ADT = 1890
2030 ADT = 2830
12003 %T (ADT) = 22%

3

2030 %T (ADT) = 35%

2003 ADT = 900

2030 ADT = 1350
2003 %T (ADT) = 22%
2030 %T (ADT) = 35%

2003 ADT = 1350
-|2030 ADT = 2020

12030 %T (ADT) = 23%

2003 %T (ADT) = 15%

%% o' 4
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Alternate 3b
New Route Traffic Volumes

e :
2003 ADT = 5000
¢ 2030 ADT = 7500

2003 %T (ADT) = 3%
.|2030 %T (ADT) = 4%

2003 ADT = 5500
2030 ADT = 8200
2003 %T (ADT) = 3%
2030 %T (ADT) = 4%

2003 ADT = 1500
2030 ADT = 2200
2003 %T (ADT) = 9% 1
2030 %T (ADT) = 14% e

—J2003 ADT = 3900
12030 ADT = 5800
2003 %T (ADT) = 5%
2030 %T (ADT) = 7%




Alternate 3b

Residual Route Traffic Volumes

2003 ADT = 4380
2030 ADT = 6550
2003 %T (ADT) = 16%
2030 %T (ADT) = 24%

2003 ADT = 15300
2030 ADT = 22870
2003 %T (ADT) = 15%
2030 %T (ADT) = 22%

2003 ADT = 3880
2030 ADT = 5800
2003 %T (ADT) = 13%
2030 %T (ADT) = 19%

2003 ADT = 8130
2030 ADT = 12240
2003 %T (ADT) = 6%
2030 %T (ADT) = 9%

2003 ADT = 3500
2030 ADT = 5230

2003 %T (ADT) = 4%
2030 %T (ADT) =7%

2003 ADT = 1960
2030 ADT = 2930
2003 %T (ADT) = 8%
2030 %T (ADT) =12%

2003 ADT = 1120
2030 ADT = 1670
2003 %T (ADT) = 13%
2030 %T (ADT) =21%

2003 ADT = 1330
2030 ADT = 1990 .
2003 %T (ADT) = 11%
2030 %T (ADT) = 17%

2003 ADT = 2390
2030 ADT = 3560
2003 %T (ADT) = 6%
2030 %T (ADT) = 10%

2003 ADT = 1060
2030 ADT = 1580

2003 %T (ADT) = 14%
2030 %T (ADT) = 22%

2003 ADT = 24800
2030 ADT = 37070
2003 %T (ADT) = 3%
2030 %T (ADT) = 4%

2003 ADT = 15020
2030 ADT = 22450
2003 %T (ADT) = 5%
2030 %T (ADT) = 8%

~[2003 ADT = 7110
*.12030 ADT = 10630
12003 %T (ADT) = 6%
\2030 %T (ADT) =

2003 ADT = 3950
2030 ADT = 5900

2003 ADT = 3610
2030 ADT = 5400
2003 %T (ADT) =11%
2030 %T (ADT) =17%

12003 ADT = 2970

2030 ADT = 4440

_ 12003 %T (ADT) = 14%
“12030 %T (ADT) = 22%

77|2003 ADT = 1890

{2003 %T (ADT) = 10%
2030 %T (ADT) = 16%

N

J2003 ADT = 6020
12030 ADT = 9000
12003 %T (ADT) = 8%

2030 %T (ADT) = 13%

2003 ADT = 7760
2030 ADT = 11600
2003 %T (ADT) = 4%
2030 %T (ADT)=6%

2003 ADT = 5630
2030 ADT = 8010
2003 %T (ADT) = 5%
2030 %T (ADT) = 8%

2030 ADT = 2830
242003 %T (ADT) = 22%

2030 %T (ADT) = 35%

2003 ADT = 900
2030 ADT = 1350

2003 %T (ADT) = 22%
2030 %T (ADT) = 35%

2003 ADT = 1350
~.-|2030 ADT = 2020

12030 %T (ADT) = 23%

. 2003 %T (ADT) = 15%

23 nidhine i
e il
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-Alternate 4
New Route Traffic Volumes

2003 ADT = 500
42030 ADT = 700
" |2003%T (ADT)=7%
J 12030 %T (ADT) = 10%

h £e

2003 ADT = 1600
2030 ADT = 2400
2003 %T (ADT) = 12%
2030 %t (ADT) = 18%

2003 ADT = 10400
-|2030 ADT = 15500
2003 %T (ADT)=7% ; -
2030 %T (ADT) = 10% R

e

H

2003 ADT = 10500
2030 ADT = 15700 TN
2003 %T (ADT) = 6% ] 2003 ADT = 5900
2030 %T (ADT) = 10% - 2030 ADT = 8800

Ke P 2003 %T (ADT) = 12%
2030 %T (ADT) = 18%




2003 ADT = 6300
2030 ADT = 9420
2003 %T (ADT) = 11%
2030 %T (ADT) = 17%

2003 ADT = 5190
2030 ADT = 7760
2003 %T (ADT) = 13%

2030 %T (ADT) = 19%

Alternate 4

Residual Route Traffic Volumes

2003 ADT = 15450
2030 ADT = 23090
2003 %T (ADT) = 15%
2030 %T (ADT) =22%

2003 ADT = 4870
2030 ADT = 7280
2003 %T (ADT) = 15%
2030 %T (ADT) = 22%

2003 ADT = 3500
2030 ADT = 5230

2003 %T (ADT) = 4%
2030 %T (ADT) = 7%

2003 ADT = 1960
2030 ADT = 2930
2003 %T (ADT) = 8%
2030 %T (ADT) = 12%

2003 ADT = 1120
2030 ADT = 1670

2003 %T (ADT) = 13%
2030 %T (ADT) = 21%

2003 ADT = 1330
2030 ADT = 1990
2003 %T (ADT) = 11%
2030 %T (ADT) = 17%

2003 ADT = 2390
2030 ADT = 3570
2003 %T (ADT) = 6%
2030 %T (ADT) = 10%

2003 ADT = 1180
2030 ADT = 1760
2003 %T (ADT) = 13%
2030 %T (ADT) = 20%

2030 ADT =

2003 ADT = 24800

2003 %T (ADT) = 3%
2030 %T (ADT) = 4%

37070

2003 ADT = 14850
2030 ADT = 22200
2003 %T (ADT) = 5%
2030 %T (ADT) = 8%

2003 ADT = 4190
12030 ADT = 6260
12003 %T (ADT) = 9%

T

\]2030 %T (ADT) = 14%

2003 ADT = 2330
2030 ADT = 3480
.{2003 %T (ADT) = 16%
2030 %T (ADT) = 26%

Vo

!

i i
2003 ADT = 3190

2003 ADT = 4340

2030 ADT = 6490

2003 %T (ADT) = 9%
2030 %T (ADT) = 14%

2030 ADT = 4770
2003 %T (ADT) = 12%
2030 %T (ADT) =19%

2003 ADT = 3500
2030 ADT = 5230
2003 %T (ADT) = 10%
12030 %T (ADT) = 16%

2003 ADT = 2970
2030 ADT = 4440
2003 %T (ADT) = 13%
-*12030 %T (ADT) = 20%

2003 ADT = 5970
2030 ADT = 8920

2003 %T (ADT) = 6%
2030 %T (ADT) = 9%

412003 %T (ADT) = 20%
12030 %T (ADT) = 32%

2003 ADT = 1870
2030 ADT = 2800

2003 ADT = 890

2030 ADT = 1330
2003 %T (ADT) = 20%
2030 %T (ADT) = 32%

2003 ADT = 1340
"--12030 ADT = 2000

2003 %7 (aDT) = 13%
12030 %T (ADT) = 21%

o, Aviich™



=

2003 ADT = 400
2030 ADT = 600
12003 %T (ADT) = 13%
«x{2030 %T (ADT) = 20%

. |2003 ADT = 1600
#-12030 ADT = 2400
12003 %T (ADT) = 10%
;12030 %T (ADT) =

16%

.--|2003 ADT = 5900
_|2030 ADT = 8800

2003 %T (ADT) = 12%
12030 %T (ADT) =17%

2003 ADT = 10600
2030 ADT = 15800
2003 %T (ADT) = 6%
2030 %T (ADT) = 10%

Alternate 5
New Route Traffic Volumes

2003 ADT = 10400
2030 ADT = 15500
2003 %T (ADT) = 7%
2030 %T (ADT) = 10%




2003 ADT = 5880
2030 ADT = 8790
2003 %T (ADT) = 12%
2030 %T (ADT) =18%

2003 ADT = 4680
2030 ADT = 7000
2003 %T (ADT) = 15%
2030 %T (ADT) = 24%

2003 ADT = 5510
2030 ADT = 8240
2003 %T (ADT) =13%

2030 %T (ADT) =19%

2003 ADT = 3890
2030 ADT = 5810
2003 %T (ADT)=1%
2030 %T (ADT) = 1%

2003 ADT = 3500
2030 ADT = 5230
2003 %T (ADT) = 4%
2030 %T (ADT)=7%

2003 ADT = 1960
2030 ADT = 2930
2003 %T (ADT) = 8%
2030 %T (ADT) = 12%

Alternate 5
Residual Route Traffic Volumes

2003 ADT = 15600
2030 ADT = 23320
2003 %T (ADT) = 15%
2030 %T (ADT) =22%

2003 ADT = 1120
2030 ADT = 1670
2003 %T (ADT) = 13%
2030 %T (ADT) =21%

12003 ADT = 3710

2030 ADT = 5550
2003 %T (ADT) = 5%
2030 %T (ADT) = 8%

2003 ADT = 1330
2030 ADT = 1990
2003 %T (ADT) = 11%
2030 %T (ADT) = 17%

2003 ADT = 2390
2030 ADT = 3570
2003 %T (ADT) = 6%
2030 %T (ADT) = 10%

2003 ADT = 1180
2030 ADT = 1760
2003 %T (ADT) = 13%
2030 %T (ADT) = 20%

Ay

2003
2030
2003
2030

ADT = 24800
ADT = 37070

%T (ADT) = 3%
%T (ADT) = 4%

2003 ADT = 14850
2030 ADT = 22200
2003 %T (ADT) = 5%
2030 %T (ADT) =8%

5 . el
“]2003 ADT = 4950
-12030 ADT = 7400
[2003 %T (ADT) = 8%
|2030 %T (ADT) = 13%

-

2003 ADT = 2750
2030 ADT = 4110
/|2003 %T (ADT) = 15%
2030 %T (ADT) = 23%

(D

2003 ADT = 3500
2030 ADT = 5230

2003 %T (ADT) = 10%
|2030 %T (ADT) = 16%

712003 ADT = 2970
2030 ADT = 4440
2003 %T (ADT) = 13%
12030 %T (ADT) = 20%

-

12003 ADT = 1870
2030 ADT = 2800
7]2003 %T (ADT) = 20%

=12030 %T (ADT) = 32%

2003 ADT = 890

- 2030 ADT = 1330

2003 %T (ADT) = 20%
2030 %T (ADT) = 32%

2003 ADT = 5860
2030 ADT = 9160

2003 %T (ADT) = 6%
2030 %T (ADT) = 9%

2003 ADT = 1340

-12030 ADT = 2000

2003 %T (ADT) = 13%

12030 %T (ADT) = 21%

i

o, V™




2003 ADT = 10600
2030 ADT = 15800
2003 %T (ADT) = 6%

2030 %T (ADT) = 10%

Alternate 6
New Route Traffic Volumes

-|2003 ADT =700
2030 ADT = 1000
1, 7]2003 T (ADT) = 13% p
"]2030 %T (ADT) = 19%

o Lo

2003 ADT = 5100

r 2030 ADT = 7600
7 2003 %T (ADT) = 13%
"N\ |2030 %T (ADT) = 19%

2003 ADT = 9900
2030 ADT = 14800
2003 %T (ADT)=7%
2030 %T (ADT) =11%




2003 ADT = 5820
2030 ADT = 8700

2003 %T (ADT) = 12%
2030 %T (ADT) = 19%

2003 ADT = 5140
2030 ADT = 7680
2003 %T (ADT) = 14%
2030 %T (ADT)=21%

Alternate 6

Residual Route Traffic Volumes

2003 ADT = 14700
2030 ADT = 21970

2003 %T (ADT) = 15%
2030 %T (ADT) = 22%

2003 ADT = 4470
2030 ADT = 6680

2003 %T (ADT) = 4%
2030 %T (ADT) = 6%

2003 ADT = 4750
2030 ADT = 7100
2003 %T (ADT) = 5%
2030 %T (ADT)=8%

2003 ADT = 2660
2030 ADT = 3980
2003 %T (ADT) = 9%
2030 %T (ADT) = 14%

2003 ADT = 1520
2030 ADT = 2270

2003 %T (ADT) = 16%
2030 %T (ADT) = 25%

2003 ADT = 2300
2030 ADT = 3440
2003 %T (ADT) = 10%
2030 %T (ADT) = 16%

2003 ADT = 4140
2030 ADT = 6190
2003 %T (ADT) = 6%
2030 %T (ADT) = 9%

2003 ADT = 1880
2030 ADT = 2810
2003 %T (ADT) = 13%
2030 %T (ADT) = 20%

- [2003 ADT = 4320

2030 ADT = 6460
2003 %T (ADT) = 9%

%|2030 %T (ADT) = 13%

T 3

{2003 ADT = 2400
2030 ADT = 3590
2003 %T (ADT) = 15%

2030 %T (ADT) = 24%

2003 ADT = 3330
2030 ADT = 4980

2003 %T (ADT) = 10%
2030 %T (ADT) = 15%

R

2003 ADT = 25450
2030 ADT = 38040
2003 %T (ADT) = 3%
2030 %T (ADT) = 4%

2003 ADT = 15300
2030 ADT = 22870
2003 %T (ADT) =5%
2030 %T (ADT) = 8%

2003 ADT = 4290
2030 ADT = 6410
2003 %T (ADT) = 9%
12030 %T (ADT) = 15%

2003 ADT = 3070
2030 ADT = 4590
2003 %T (ADT) = 14%
12030 %T (ADT) = 21%

2003 ADT = 1970
2030 ADT = 2940
12003 %T (ADT) = 21%
#:12030 %T (ADT) = 33%

2003 ADT =910

2030 ADT = 1360
2003 %T (ADT) = 22%
2030 %T (ADT) = 34%

2003 ADT = 1370
-.-12030 ADT = 2050
- 2003 %T (ADT) = 15%
12030 %T (ADT) =23%

i

™, X.V;r_fch £

2003 ADT = 5630
2030 ADT = 8420
2003 %T (ADT) = 5%
2030 %T (ADT) = 8%




Alternate 7
New Route Traffic Volumes

_A~2003 ADT = 700
412030 ADT = 1000
2003 %T (ADT) = 15%
2030 %T (ADT) = 22%

2003 ADT = 10600
2030 ADT = 15800
2003 %T (ADT) =6%

2030 %T (ADT) = 10%

2003 ADT = 9900
2030 ADT = 14800
2003 %T (ADT) = 7%
2030 %T (ADT) = 11%




2003 ADT = 5940
2030 ADT = 8880
2003 %T (ADT) = 12%
2030 %T (ADT) = 18%

2003 ADT = 5290
2030 ADT = 7910

2003 %T (ADT) = 14%
2030 %T (ADT) = 21%

2003 ADT = 4470
2030 ADT = 6680

2003 %T (ADT) = 4%
2030 %T (ADT) = 6%

2003 ADT = 4650
2030 ADT = 6950
2003 %T (ADT) = 5%
2030 %T (ADT) = 7%

2003 ADT = 2600
2030 ADT = 3890
2003 %T (ADT) = 8%
2030 %T (ADT) = 13%

< | S N 3
¢+|2003 ADT = 3220

2003 ADT = 1490
2030 ADT = 2230

2003 %T (ADT) = 14%
2030 %T (ADT) = 22%

2003 ADT = 2200
2030 ADT = 3290

2003 %T (ADT) = 10%
2030 %T (ADT) = 15%

2003 ADT = 4050
2030 ADT = 6050

2003 %T (ADT) =5%
2030 %T (ADT) = 8%

2003 ADT = 1800
2030 ADT = 2690

2003 %T (ADT) = 12%
2030 %T (ADT) = 18%

2030 ADT = 4810
2003 %T (ADT) =9%

2030 %T (ADT) = 14%

Alternate 7
Residual Route Traffic Volumes

2003 ADT = 1750
2030 ADT = 2620
2003 %T (ADT) = 10%

-4 2030 %T (ADT) = 15%

2003 ADT = 2350
2030 ADT = 3510
2003 %T (ADT) = 15%
2030 %T (ADT) = 22%

2003 ADT = 15030

2030 %T (ADT) = 13%

T

-~ 12030 ADT =3660
-12003 %T (ADT) = 15%
2030 %T (ADT) = 24%

I
H

2030 ADT = 22470
2003 %T (ADT) = 5%
2030 %T (ADT) = 8%

12030 %T (ADT) = 15%

2003 ADT = 3530
2030 ADT = 5280
2003 %T (ADT) = 9%

2003 ADT = 3070
2030 ADT = 4590

,.]2003 %T (ADT) = 14%
12030 %T (ADT) =21%

2003 ADT = 5630
2030 ADT = 8420

2003 %T (ADT) = 5%
2030 %T (ADT) = 8%

2003 ADT = 1970
2030 ADT = 2940

12003 %T (ADT) = 21%
+42030 %T (ADT) = 33%

2003 ADT = 910
2030 ADT = 1360

2003 %T (ADT) = 22%
2030 %T (ADT) = 34%

2003 ADT = 1370
2030 ADT = 2050

2003 %T (ADT) = 15%




Alternate 7

Residual Route Traffic Volumes

2003 ADT = 15600
2030 ADT = 23320
2003 %T (ADT) = 15%
2030 %T (ADT) = 22%

2003 ADT = 24800
2030 ADT = 37070
2003 %T (ADT) = 3%
2030 %T (ADT) = 4%




Alternate 8
New Route Traffic Volumes

4
200
12030 ADT = 5800

2003 %T (ADT) = 13%
2030 %T (ADT) = 20%

T T
H P

2003 ADT = 2100
2030 ADT = 3100
2003 %T (ADT) = 24%
'|2030 %T (ADT) = 35%
E i

;_[2003 ADT = 2900
2030 ADT = 4300
2003 %T (ADT) = 17%
2030 %T (ADT) = 25%

P

2003 ADT = 200
12030 ADT = 300
“|2003 %T (ADT) = 20%
2030 %T (ADT) = 30%

o Ay ™

2003 ADT =4900
: 2030 ADT = 7300

o 2003 %T (ADT) = 14%
" et 2030 %T (ADT) = 20%

2003 ADT = 10500
2030 ADT = 15700
2003 %T (ADT) = 7%
2030 %T (ADT) = 11%

2003 ADT = 8700
2030 ADT = 14500
2003 %T (ADT) = 8%
2030 %T (ADT) = 12%

N




Alternate 8

Residual Route Traffic Volumes

2003 ADT = 5980
2030 ADT = 8940
2003 %T (ADT) = 12%
2030 %T (ADT) = 18%

2003 ADT = 14700
2030 ADT = 21970
2003 %T (ADT) = 15%

2030 %T (ADT) = 22%

2003 ADT = 5290
2030 ADT = 7910
2003 %T (ADT) = 14%
2030 %T (ADT) = 21%

2003 ADT = 4500
2030 ADT = 6730
2003 %T (ADT) = 7%
2030 %T (ADT) = 10%

2003 ADT = 4850
2030 ADT = 7250

2003 %T (ADT)=7%
2030 %T (ADT) =10%

2003 ADT = 2720
2030 ADT = 4070
2003 %T (ADT) = 12%
2030 %T (ADT) =18%

2003 ADT = 1550
2030 ADT = 2320
2003 %T (ADT) =21%
2030 %T (ADT) = 32%

2003 ADT = 2400
2030 ADT = 3500

2003 %T (ADT) = 13%
2030 %T (ADT) = 21%

2003 ADT = 4320
2030 ADT = 6460
2003 %T (ADT) = 7%
2030 %T (ADT) = 12%

2003 ADT = 1920
2030 ADT = 2870
2003 %T (ADT) = 17%
2030 %T (ADT) = 26%

2003 ADT = 25380

2030 ADT = 37940

2003 %T (ADT) = 3% :
2030 %T (ADT) = 4%

" A
‘[2003 ADT = 4510
2030 ADT = 6740
12003 %T (ADT) = 8.4%

\”"[2030 %T (ADT) = 13.1%

3 R

N

*|2030 ADT = 3750
42003 %T (ADT) = 15%

2003 ADT = 2510

2030 %T (ADT) = 24%

T Pk 3l 1]
. 4 &

{[2003 ADT = 3510

s, 2030 ADT = 5250
-~{2003 %T (ADT) = 11%

2030 %T (ADT) = 17%

2003 ADT = 15150
2030 ADT = 22650
2003 %T (ADT) = 5%
2030 %T (ADT) = 8%

2003 ADT = 4300
2030 ADT = 6430
2003 %T (ADT) =13%
2030 %T (ADT) = 20%

12003 ADT = 1980

2030 ADT = 2960
2003 %T (ADT) = 2%

“12030 %T (ADT) = 3%




2003 ADT = 10500 .
2030 ADT = 15700
2003 %T (ADT) =7%

2030 %T (ADT) = 11%

p:{

Alternate 8a
New Route Traffic Volumes

420!

2003 ADT = 3900

‘|2030 ADT = 5800
2003 %T (ADT) = 13%
30 %T (ADT) = 20%

PN

[

4

200

3 ADT = 2100
2030 ADT = 3100
12003 %T (ADT) = 24%
2030 %T (ADT) = 35%

[2003 ADT = 2000
12030 ADT = 4300
”|2003 %T (ADT) = 17%
“|2030 %T (ADT) = 25%

; A

2003 ADT = 200
2030 ADT = 300

2003 %T (ADT) = 20%
2030 %T (ADT) = 30%

T

2003 ADT = 4900
2030 ADT = 7300
2003 %T (ADT) = 14%
2030 %T (ADT) = 20%

2003 ADT = 9700
2030 ADT = 14500
2003 %T (ADT) = 8%
2030 %T (ADT) = 12%

ity
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Alternate 8a
Residual Route Traffic Volumes

2003 ADT = 14700
2030 ADT = 21970 ) 2003 ADT = 25380

2003 %T (ADT) = 15% 2030 ADT = 37940

2003 ADT = 5980 2030 %T (ADT) = 22% 2003 %T (ADT) = 3%
2030 ADT = 8940 2030 %T (ADT) = 4%
2003 %T (ADT) = 12%
2030 %T (ADT) = 18%

I P SN , 7003 ADT = 15150
gggg :gI . 3333 Fal e d e @110 T i . 2030 ADT = 22650
2003 %T (ADT) = 14% i - ") - 2003 %T (ADT) = 5%
& oA 2030 %T (ADT) = 8%
2030 %T (ADT) = 21% Y

£

2003 ADT = 4510

2030 ADT = 6740

|2003 %T (ADT) = 8%
2030 %T (ADT) = 13%

2003 ADT = 4300
2030 ADT = 6430
2003 %T (ADT) = 13%
_]2030 %T (ADT) =20%

2003 ADT = 4500
2030 ADT = 6730
2003 %T (ADT) = 7%
2030 %T (ADT) = 10%

=

2003 ADT = 2510
{2030 ADT = 3750

12003 ADT = 1980

12003 %T (ADT) = 15%
12030 %T (ADT) = 24%

2003 ADT = 4850
2030 ADT = 7250
2003 %T (ADT) = 7%
2030 %T (ADT) = 10%

2030 ADT = 2960
. |2003 %1 (ADT) = 2%
12030 %T (ADT) = 3%

{2003 ADT = 3510
. *|2030 ADT = 5250

12003 %T (ADT) = 11%
2030 %T (ADT) = 17%

2003 ADT = 2720
2030 ADT = 4070
2003 %T (ADT) = 12%
2030 %T (ADT) = 18%

2003 ADT = 1550
2030 ADT = 2320
2003 %T (ADT) = 21%
2030 %T (ADT) = 32%

2003 ADT = 2400
2030 ADT = 3590
2003 %T (ADT) = 13%
2030 %T (ADT) = 21%

2003 ADT = 4320
2030 ADT = 6460
2003 %T (ADT) = 7%
2030 %T (ADT) = 12%

2003 ADT = 1920
2030 ADT = 2870
2003 %T (ADT) =17%
2030 %T (ADT) = 26%
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Commonwealth of Kentucky w17 A B 37
Maxwell C. Bailey Transportation Cabinet Ernie Fletcher
Secretary of Transportation Frankfort, Kentucky 40622 Governor

ﬂ
INTRA-DEPARTMENTAL MEMO
#

TO: ~ Annette Coffey, P.E., Director
Division of Planning .

ATTN: Bruce Siria, P.E.

FROM: Michael L. Hill, P.E., Director %ﬁzﬁ

Division of Multimodal Programs
DATE:  December 15, 2003

SUBJECT: Leslie, Harlan, Perry and Letcher Counttes Traffic Forecasts

(’ ) Harlan to Hazard Alternatives Study
This is to revise, refine and supplement our November 18, 2003 forecast on the
subject project as follows:
»- Due o no interchange at KY 257/HR Parkway, travel time and distance
savings from Harlan to Hazard were modified in Alternates 1 and 1a. .
« KY 451 was not considered as a route to calculate traval time and distance
~ savings except Alternate 7.
« Travel time and distance savings from Harian to London were added.
if you have any questions, please call Rob Bostrom or Kong Ee of this Division.
MLH:NRB:KE
Attachments
¢: Rob Bostrom w/attachment
Daryl Greer w/attachment
(\J )

} KENTUCKY TRANSPORTATION CABINET
“PROVIDE A SAFE, EFFICIENT, ENVIRDNMENTALLY SOLIND, AND FISCALLY RESPONSIELE TRANSEORTATION SYSTEM
\WHICH FROMOTES ECONGMIC GROWTH AND ENHANCES THE QUALITY OF LIFEIN KENTUCKY?
=AN EQUAL OPPORTUNITY EMPLOYER ¥/F/D"



N
[ Travel Times and Travel Distances

Harlan to London Altefnates

Distance (miles) | Time {minutes)

No Build 1 (Harlan to London) 80.45 107.62
No Build 2 (Harlan to London) B1.32 108.68
No Build 3 (Harlan to London) 76.16 82.4

Alternate 1 (Harlan to London) 75.31 82.16
Alternate 1 - KY 118 (Harlan to London) 70.92 77.37
Alternate 1a (Harlan fo London) 76.56 83.52
Aliernate 1a - KY 80 - KY 118 {Harlan to London) 72.28 79.71

Alternate 2 (Harlan to London) 73.06 79.7

Alternate 2a (Harkan to London) 732 79.85
Alternate 3 (Harlan to London) 70.94 77.39
Alternate 3a (Harian o London) 78.95 86.13
Alternate 3a - KY 80 - Y 118 {Harlan to London) 74.67 82.32
Altsrnate 3b (Harlan to London) 75.19 B2.03
Alternate 4 (Harlan to London) 78.14 85.24
Alternate 4 - KY 80 ~ KY 118 (Harlan to London) 75.21 83.33
Alternate 5 {Harlan fo London) 80.79 88,13
Alternate 5 ~ KY 80 - KY 118 {Harlan to London) 79.64 88.72




i- . \ Travel Times and Travel Distances

Harlan to Hazard Alternates

Distance (miles) Time {minutes)

No Buiid 1 (Harian to Hazard) 52,73 81.16
Mo Build 2 (Harlan io Hazard) 51.86 80
No Build 3 (Harlan to Hazard) 55.21 70.9
Alternate 1 {Harlan to Hazard) 42,245 46.85
Alternate 1a (Harlan to Hazard) 40.28 44.7b
Alternate 1a - KY 80 (Harlan to Hazard) 41.08 48.73
Alternate 2 (Harlan to Hazard) 44.72 52.91
Alternate 2a (Harlan to Hazard) 44,86 53.06
Alternate 3 (Harlan to Hazard) 44,59 53.52
Altenate 3 - US 421 (Harlan to Hazard) 48.4 80.23
Alternate 3a (Harlan to Hazard) 42.67 47.38
Alternate 3a - KY 80 {Harlan to Hazard) 39.78 46,81
Alternate 3b (Harlan to Hazard) 44.43 51.88
Alternate 4 (Harlan to Hazard) 43.51 48.27
Alternate 4 - KY 80 (Harlan to Hazard) 40.5 47.68
Alternate 5 (Harlan o Hazard) 42.94 47.65
Alternate 5 - KY 80 (Harlan to Hazard) 40.27 46,83
Alternate 6 (Harlan to Hazard) 34.55 39.66
Alternate 7 {Harlan to Hazard) 20,22 31.88
Alternate 8 {Harlan to Hazard) 47.5 53.79
Alternate 8a (Harlan to Hazard) 46.15 52.31




Harlan to London Alternates

: Time Savings and Distance Savings

Routes
No Build 3 (Harlan to London)
No Build 1 {Harlen o London)

Alternate 1 {Harlan 1o Lendon)
No Build 2 {Harlan to London)

Allemate 1 - KY 118 (Harlan to London)
No Build 2 (Harlan fo London)

Alternate 1a (Harlan to London)
No Build 2 {Haran to London)

Alternats 1a - KY BD - KY 118 (Harlan to London)
No Build 2 (Harlan to London)

Alternate 2 (Harlan to London)
No Build 1 (Harlan to London)

Alternate 2a (Haran to London)
No Build 1 {(Harlan to Lendon)

Alternate 3 (Harlan fo London}
No Bulld 1 {Harlan to London)

Alternate 3a (Harlan to London)
No Build 4 (Harlan to Landon)

Aliemate 3a - KY 80 - KY 118 (Harlan to London)
No Buitd 1 (Harlan te London)

Alternate 3b (Harlan to London)
No Build 1 (Harlan to London)

Alternate 4 (Harlan to Lendon}
No Build 4 {Harlan to London)

Alternate 4 - KY 80 - KY 118 {Harlan to London)
Ne Build 1 {Harlan o London)

Altemate 5 (Harlan to Londor)
No Build 1 (Haran fo Londen)

Alternate 5 - KY 80 - KY 118 (Harlan to London)
No Bulid 1 (Harlan to London)

Distance {(miles) Distance Savings Time (minutes) Time Savings

76.18
80.45

75.31
81.32

70.92
81.32

76.56
81.32

72.28
81.32

73.06
60.45

73.2
80.45

70.94
B0.45

78.95
8045

7467
8045

75.18
80A5

78.14
80.45

75.21
80.45

80.79
80.45

79.64
80.45

4.29

6.01

104

4.76

8.04

7.39

725

9.51

15

578

5.26

2.31

5.24

0.81

g2.4
107.62

g82.16
108,68

71.37
108.68

83.852
108.68

78.71
108.68

79.7
107.52

79.85
107.52

77.39
107.52

86.13
107.52

82.32
107.52

B2.03
107.52

85.24
107.52

B3.33
107.52

8813
107.52

88.72
107.52

2512

26.52

313

25.16

28.97

.

2762
27.67
30,13
2138
252
25.49
2228
24.19
19.39

18.8



Harlan to Hazard Alternates

TN

' Time Savings and Distance Savings
Routes Distance (miles) Distance Savings Time (minutes) Time Savings
Alternate 1 (Harlan to Hazard) 4221 10.52 46.85 34.31
No Build 1 (Harlan to Hazard) 52,73 81.16
Alternate 1a (Harlan to Hazard) 40,28 12.45 4475 36.41
No Build 1 {Harlan to Hazard) 5273 81.16
Altemate 1a - KY BD (Harlan to Hazard) 41.08 11.64 48.73 3243
No Build 1 (Harlan to Hazard) 52.73 81.16
Alternate 2 (Harlan to Hazard) 44,72 7.14 52.91 27.09
No Build 2 (Harlan o Hazard) 51.88 80
Alternate 2a (Harian to Hazard) 44.86 7 53.08 26.04
Mo Build 2 {Harlan to Hazard) 51.86 BO e,
Alternate 3 (Harlan to Hezard) 4459 7.27 53,52 26.48
No Bulld 2 (Harlan to Hazard} . 51.86 80
Altemate 3 - US 421 (Harlan to Hazard) 48.4 348 50.23 19.77
No Build 2 (Harlan to Hazard) 51.86 80
Altemnate 3a (Harlan to Hazard) 42.67 9,19 47.36 32.64
No Build 2 {(Harlan 1o Hazard) 51.86 80

.., Aliemale 3a - KY 80 (Harlan to Hazard) 39,78 12.08 4881 33.19

( | No Build 2 {Harlan to Hazard) 51.86 80

Aliernate 3b (Harlan to Hazard) 44.43 7.43 51.88 2B.12
No Build 2 (Harlan to Hazard) 51.86 80
Altemate 4 (Harlan to Hazard) 43.51 1.7 48.27 22,63
No Buiid 3 {Harlan to Hazard) 55.21 70.8
Aliernate 4 - KY B0 (Harlan fo Hazard) 40,5 14,71 47 .66 23.24
No Build 3 (Harlan to Hazard) 55.21 70.9
Alternste 5 {Harlan io Hazard) 42,94 12.27 . A7.85 23.25
No Build 3 {Harlan to Hazard} 55.21 70.9
Aliernate 5 - KY 80 (Harlan to Hazard) 4027 14,94 46.83 24.07
Mo Build 3 (Harlan to Hazard) 55.21 70.9
Alternate 6 (Harian to Hazard) 34.55 20,66 38.66 3124
No Build 3 {Harlan to Hazard) 55.21 709
Aliernate 7 (Harlan to Hazard) 28,22 25.99 31.88 30.02
No Build 3 (Harlan to Hazard) 8521 70.9
Alternate 8 {(Harlan to Hazard) 47.5 7.71 53.79 : 17.11
No Build 3 (Harlan to Hazard) 5521 70.9
Alternate 8a {Harlan to Hazard) 46.15 9.06 52.31 18.59
No Buitd 3 {Harlan to Hazard) 55.21 70.9
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